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�úÞ�� �î ü��ãê¢ ¢�Àã� .Ýþ¤�¢ ¢¤�À÷�µ¨� ¤�Èê ø �õ¢ ¤¢ ö�ø¤À�û ¥�ð ýø�� ý¤À�Ü�¨ (1.À�÷�� ß�Þ¿� Ý¹� À��ø ,ö�õ¥ À��ø Â� À��î üõ ¢¤�¡Â� ¤À�Ü�¨ ý ù¤��þ¢ ��,×�÷�÷�îøÂØ�õ Û±õ�Æ÷� ¤¢ ñ� ùÀþ� ¥�ð ý�Â� ¥�ê ý�Ìê Ý¹� ý �±¨�½õ ý�Â� (2Ý¹� .Ý��î ��Æ� �¤ R á�ãª �� ýÀã� n ý ùÂî ×þ ¼Î¨ ´��Æõ Ýþ¤�¢ ���µ���õ: ´¨� Âþ¥ �¤�¬ �� R á�ãª �� ýÀã� n ùÂî ×þ�n(R) = CnRn (1): ö� ´��Æõ ø�n(R) = nCnRn�1 (2)ö�È÷ ,Ý��î �±¨�½õ �¤ Cn ´��� Ýþ¤�¢ ¥��÷ �õ, ´��Æõ ßþ� ö¢¤ø� ´¨¢ �� ý�Â�:�î À�û¢Cn = 2�n=2�(n=2+ 1) (3).´¨�õ�ð â��� �(z) �î:ßþ�Â����.R1�1 exp(��x2) dx =p�� �î Ý�÷�¢ üõ :¢�ú�È��Z 1�1 e��(x12+:::+xn2) dx1:::dxn = (�� )n2 (4)�î nCn R10 Rn�1exp(��R2) dR �¤�¬ �� ýøÂî ��Êµ¿õ ¤¢ �¤ ñ�ÂÚµ÷� ñ��.À��î üÆþ�÷¥�� ´¨�õ�ð â��� ×þ1



� � ö�� � ü õ �¤ × � ¨� î ñ� ùÀ þ� ¥� ð × þ ¥� ¢�¥� Ý �� N ý�Â � ü ÷� µ Ü � õ� û (3.´¨� 2m = 1 �î.´ª�÷ H = P12 + :::+ P3N2 �¤�¬:�� ´¨� Â��Â� ¥�ê ý�Ìê Ý¹� À�û¢ ö�È÷ (Óó��(E; V ) = K0V N�n(pE) (5).´¨� 3N = n ø ´��� ×þ K0 �îÀ��î �±¨�½õ �¤ S(E; V ) ü�øÂµ÷�ø �n(�ü÷�µÜ�õ�û ,Ý�û¢ ¤�Âì ×�÷�õ¤�û ÂÚ÷�¨�÷ ×þ ü�¤�¡ Û�Æ÷�µ� ¤¢ �¤ üó� ùÀþ� ¥�ð Âð� (4:¢�ª üõ Âþ¥ �¤�¬ �� «�¡ ýÀ��ø ¤¢ ö�H = (P12 + :::+ P3N2) + (r12 + :::+ r3N2) (6)K1 �î �(E; V ) = K1�n(pE)�� ´¨� Â��Â� ¥�ê ý�Ìê Ý¹� �î À�û¢ ö�È÷ (Óó�.´¨� n = 6Nø ´���.À��î ��Æ� �¤ ÝµÆ�¨ ü�øÂµ÷� (�üð¤�� À�÷�� ß�Þ¿� ,Ýû �� ¢¤�¡Â� ß�� ¤¢ ¥�ð ×þ ¤¢ �úÞ�� ´ÈÚóø �� Õ��Îõ (5¤ÀÖ� À��î üÏ ë��� ×þ ¤¢ �¤1 
m��û ý�û�Øó�õ �� À�Èî À�û��¡ ñ�Ï �î ü÷�õ¥?´¨� ¤ÀÖ�1m ý�Â� ö�õ¥ ßþ� ?´¨�×þ �� À÷��� üõ ß�ãõ ö�õ¥ ×þ ¥� Å� üì�Ô�� ý�û¢�¡Â� ß�� ¤¢ üÞ�� N ¥�ð ×þ (6�Àµ�� ¥� �î üµÞÆì ´Þ¨ �� ¥�ð ,¢�¥� ¯�Æ±÷� ¤¢ ñ�·õ ý�Â� .¢¢Âð¥�� ��óø� ´ó��üð¤�� �î À�û¢ ö�È÷ ø À��î ¶½� ,´ÈÚóø §�¨� Â� .¢�þÂð üõ ,´¨� ù¢�� üó�¡.´¨� ¢¤�¡Â� ��ãê¢ ¢�Àã� Â��Â� eN ö�õ¥ ßþ�
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